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Question Number : 1 Question Id : 61547510131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the learning outcomes are intended 1n teaching organized at understanding level?

(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of ideas

(4) Mastery of facts and information

Options:
61547539501, 1
61547539502, 2



E15475339503. 3
51547533504, 4

Question Number : 1 Question Id : 61547510131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547559501, 1
61547539502 2
615475339503 =
61547539504, 4

Question Number : 2 Question Id : 61547510132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements differentiate teaching from learming?

(a) Teaching 1s a social act while learning 1s a personal act

(b) Teaching 1mplies learning

(c) Teaching 1s like selling while learning 12 ike buving

(d) Teaching can occur without learning taking place

(e) In teaching. influence is directed towards learning and learner, while in learning 1t 1s

usually towards oneself

Choose the correct answer from the following options :

(1) {a). (c) and (e) (2)  (a). (b)and (c)
(3) (b). (¢) and (d) (4) (e). (d) and (e)
Options:

61547523505, 1
61547533506, 2
E1547533507. 3
E15475339508. 4

Question Number : 2 Question Id : 61547510132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547523505, 1
61547533506, 2
E1547533507. 3
E15475339508. 4

Question Number : 3 Question Id : 61547510133 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are classroom related factors that influence effectiveness of teaching?

(a) Prior task related behaviour of students

(b) Adherence to linear pattern of communication by the teacher
(c) Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher

(e) Cultural background of students

Choose your answer from the following options :

(1) (a). (b) and (c)
(2) (b). (c¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)
Options:
154752950591
154752359510 2

61547533511, 3
E1547539512. 4

Question Number : 3 Question Id : 61547510133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547539509, 1
61547539510 2
61547529511, 5
61547539512 4

Question Number : 4 Question Id : 61547510134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following types of learning materials, the presentations are highly structured
and individualised?

(1) Textbooks prescribed by the universities

(2) Journals and the articles recommended for readings

(3) Writings of great thinkers selected for reflective readings

(4) Programmed instructional and modular learning material

Options:

615475395131
£1547539514. 2
61547529515, 5
61547539516 4

Question Number : 4 Question |d : 61547510134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

6154753395121
61547529514 2
61547529515, 2
61547539516, 4

Question Number : 5 Question Id : 61547510135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of assessment 1s conducted periodically with an eve on

standards?

(1) Formative assessment (2) Summative assessment

(3) Portfolio assessment (4) Performance assessment
Options:

61547533517, 1
61547533518, 2
E1547539518. 3
E1547539520. 4

Question Number : 5 Question Id : 61547510135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539517, 1
61547539518 2
61547539519 2
E1547529520. 4

Question Number : 6 Question Id : 61547510136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?

(1) Evaluative research paradigm (2) Fundamental research paradigm
(3 Applied research paradigm (4) Action research paradigm
Options:

61547529521, 1
E1547539522. 2
E1547539523. 3
51547539524, 4

Question Number : 6 Question Id : 61547510136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547539521. 1
B15475339522 2
61547533523, 3
61547539524, 4

Question Number : 7 Question Id : 61547510137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A researcher intends to make use of ICT 1n his/her research. What considerations should
welgh most 1n such a decision?

(a) Appropriateness of the tool used
(b) Cost 1nvolved 1n procuring it
(c) Availability of tools in the department where research 1s to be undertaken

(d) Willingness of his/her supervisor to offer help
(e) The company from which the ICT equipment has been procured

Choose vour answer from the following options :

(1) (a). (b) and (c) (2) (c). (d) and (e)
(3) (a). (c) and (d) (4) (b). (c) and (e)
Options:

515475335251
61547533526, 2
E1547533527. 3
61547533528, 4



Question Number : 7 Question Id : 61547510137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547539525. 1
B15475339526. 2
B1547533527. 3
61547533528, 4

Question Number : 8 Question Id : 61547510138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sampling procedures will be appropriate for conducting researches

with empirico-inductive research paradigm?
(1) Simple random sampling procedure
(2) Systematic sampling procedure

(3) Stratified sampling procedure

(4) Any of the non-probability sampling procedures

Options:

61547539529, 1
£1547539520. 2
£1547529521. 2
61547529522 4

Question Number : 8 Question Id : 61547510138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475295291
615475393530, 2
61547533531 3
61547539532 4

Question Number : 9 Question Id : 61547510139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following formats ‘Chapter Scheme’ of the document has to be formally

approved by a research degree committee 1n the university?

(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options:

E1547539533. 1
B1547539534. 2
51547533535, 3
61547533536 4

Question Number : 9 Question Id : 61547510139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547539533. 1
E1547539534. 2
515475339535, 3
51547533536, 4



Question Number : 10 Question Id : 61547510140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A research scholar while submitting hiz/her thesis. did not acknowledge in the preface the
help and support of the respondents of guestionnaires used. This will be called an instance of

(1) Technical lapse (2)  Wilful neghgence
(3) Unethical act (4) Lack of respect
Options:

BE1547539537. 1
51547533538, 2
51547533539, 3
615475233540, 4

Question Number : 10 Question Id : 61547510140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547533537. 1
61547533538, 2
E1547539539. 3
E1547539540. 4

Question Number : 11 Question Id : 61547510141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When there 1= an animated discussion between a teacher and his or her students in the
classroom. 1t can be classified as :

(1) Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options:

£1547533541. 1
E1547539542. 2
E1547539543. 3
51547539544, 4

Question Number : 11 Question Id : 61547510141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475239541, 1
615475339542 2
61547533543, 3
E1547539544. 4

Question Number : 12 Question Id : 61547510142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Information overload 1n a classroom evmironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayed feedback
Options:

£1547533545. 1
E154753954E. 2
E1547539547. 3
515475339548, 4

Question Number : 12 Question Id : 61547510142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

5154752339545 1
615475339546, 2
61547533547, 3
615475235458, 4

Question Number : 13 Question Id : 61547510143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A verbal communication technique used in teaching 1s

(1) Slow expression of words
(2) Varving the speed of voice and tone
(3 Presentation without pause

(4) Resorting to semantic jugglery
Options:
1547539549 1
£15475339550 2
E1547535551. 2
£1547539552 4

Question Number : 13 Question Id : 61547510143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547539548. 1
E15475339550. 2
51547533551, 3
61547533552, 4

Question Number : 14 Question Id : 61547510144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following modes of communication can be employed 1n a classroom for effective
teaching?
(a) Top-down

(b) Iconic
(c) Associational
(d) Dissociational

(e) Svmbolic
(f) Abstract

Choose the most appropriate option from the following :

(1) (a). (b) and (f) (2) (c). (e)and (D)
(3) (b). () and (e) (4) (a).(c) and (d)
Options:

61547533552, 1
E1547539554. 2
E15475339555. 3
51547533556, 4



Question Number : 14 Question Id : 61547510144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547539553. 1
615475339554, 2
61547533555, 3
E1547533556. 4

Question Number : 15 Question Id : 61547510145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two Statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A): Use of slang 1n formal teaching makes commumication lively and
Interesting.

Reasons (R) : Academic decency demands the avoidance of slang in the classroom
environment.

In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true



Options:

61547539557, 1
£1547539558 2
£1547529559 =2
61547539560, 4

Question Number : 15 Question Id : 61547510145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539557, 1
£1547539558 2
£1547529559 =2
61547539560, 4

Question Number : 16 Question Id : 61547510146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain coding language. "AEIOU 1s wnitten as TNHDZ. Using the same coding
language, ‘BFJPV will be written as

() UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

E1547539561. 1
61547533562, 2
51547533563, 3
61547533564, 4

Question Number : 16 Question Id : 61547510146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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=7 7 o s ?

(1) UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

51547533561, 1
61547533562, 2
61547533563, 3
61547523564, 4

Question Number : 17 Question Id : 61547510147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 3% of (a+b) = 7% of (ab)

and 5% of (a—b) = 4% of (ab),

then what percentage of b 1s a?

47 23

(1 % 9y =229
) 93" @ 7"
@ 40, @ 2300,
923 47
Options:

E15475339565. 1
E1547539566. 2
61547533567, 3
61547533568, 4

Question Number : 17 Question Id : 61547510147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547539565. 1
E1547539566. 2
B1547533567. 3
51547533568, 4

Question Number : 18 Question Id : 61547510148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of a number and its inverse 1s —4. The sum of their cubes 1s :

(1) 52 (2) 52
(3) 64 (4) —-64
Options:

515475335659, 1
61547533570, 2
61547533571, 3
E1547539572. 4

Question Number : 18 Question Id : 61547510148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) —52 (2) 52
(3) 64 (4) —64
Options:

E154752356%9. 1
61547533570, 2
E1547539571. 3
E1547539572. 4

Question Number : 19 Question Id : 61547510149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A certain principal invested at compound 1nterest payvable yvearly amounts to Rs. 10816.00 1n
3 yvears and Rs. 11248.64 in 4 years. What 1s the rate of interest?

I 3% 2 4%
(3) 4.5% (4) 5.5%
Options:

515475335731
61547539574, 2
61547533575, 3
E1547539576. 4

Question Number : 19 Question Id : 61547510149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3% (%) 4%
(3) 4.5% (4) 5.5%
Options:

E1547533573. 1
61547523574, 2
E1547539575. 3
B1547533576. 4

Question Number : 20 Question Id : 61547510150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the exact equivalent discount of three successive discounts of 10%, 15% and 20% by
sale of an article?

(1) 35.8% (2) 38.5%
(3  35.5% (4) 38.8%
Options:

B1547533577. 1
615475339578, 2
61547533579, 3
61547533580, 4

Question Number : 20 Question Id : 61547510150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 35.8% (2)  38.5%
(3) 35.5% (4) 38.8%
Options:

E1547538577. 1
E1547539578. 2
B15475339579. 3
61547533580, 4

Question Number : 21 Question Id : 61547510151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following hetwabhasa (fallacy) 1s involved 1n the argument, “Sound i1s
element because it 1s cauzed™?

(1) Viruddha or contradictory middle
(2) Satpratipaksa or inferentially contradicted middle

(3) Sﬁdh}'asama or the unproved middle

(4) Badhita or non-1nferentially contradicted middle
Options:
615475395511
61547539582 2
615475339583 2
E154753595584. 4

Question Number : 21 Question Id : 61547510151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475339581, 1
61547533582, 2
61547533582, 3
E1547539584. 4

Question Number : 22 Question Id : 61547510152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following argument :

Statements : Some chairs are curtains.
All curtains are bedsheets.

Conclusion : Some chairs are bedsheets.

What 1s the Mood of the above proposition?

(1) IAT (2) IAA
(3) ITA (4) AII
Options:

61547533585, 1
61547533586, 2
E1547538587. 3
E1547539588. 4

Question Number : 22 Question Id : 61547510152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T TS FET IS E
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% T = L
UL deh—dl9g = T&a=H 1 & ¢

(1) IAI (2) IAA
(3) ITA (4) AII
Options:

61547533585, 1
61547533586, 2
E1547539587. 3
E1547539588. 4

Question Number : 23 Question Id : 61547510153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s converse of ‘Some S 1s P*?

(1) Some S 1s not P (2) SomePisnotS
(3) Some P1s S (4) NoPisS
Options:

615475339589, 1
61547523530, 2



E15475395391. 3
515475335582, 4

Question Number : 23 Question Id : 61547510153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F3 S, P 7 - TH Uadm Fefeifgd 9 o A1 27

(1) F8S8.PFi= (2) FBP.STH 3
Options:

E1547539589. 1
515475335390, 2
5154753395581, 3
61547533532, 4

Question Number : 24 Question Id : 61547510154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following fallacious hetu (middle term) is not uniformly concomitant with
the major term?

(1) Asatpratipaksa (2) Auvatireka
(3) Anyonya-Asiddha (4) Suyabhicara
Options:

61547539592, 1
E15475395394. 2
515475339555, 3
51547533556, 4

Question Number : 24 Question Id : 61547510154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeAfetad B o S 3999 =d H@159 U5 % OO F9 § T T8 8 7

(1)  =1=e ufaus (2) oA

(3) I 1= | oz (4) T
Options:

E15475395593. 1
61547539554, 2
6154753395385 3
E15475335396. 4

Question Number : 25 Question Id : 61547510155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to classical Indian school of logic. what 1s the correct sequence of steps involved 1n
Anumana (influence)?

(1) Upana}-'a.PratijI;a. Hetu, Udaharana . Nigmana
(2) Prat.ij;la. Hetu, Upanaya. Udaharana , Nigmana
(3) Pratij;m . Upanaya. Hetu, Udaharana . Nigmana
(4) Pratijgla . Hetu. Udaharana . Upanaya. Nigmana

Options:

61547539597, 1
61547539598 2
61547539599 2
E15475329200. 4

Question Number : 25 Question Id : 61547510155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. ~ r = -, e - - - - e P S
R YA TR il FEREE AR FAE 0 HiEd S9E-3T69 F 9] HeenEd 9 "
FIAET ATHA TRl B 7

(1) T, TTHeT, E'T-[ 22T, e (2) wfaa, Tﬁ 30, IR, A
(3) ofes, 397, 74, e, e (4) wfamm, =4, sEww, I,
Options:

6154752335397, 1
E15475395958. 2
515475339599, 3
61547533600, 4

Sub-Section Number: 2
Sub-Section 1d: 615475440
Question Shuffling Allowed : Yes

Question Id : 61547510156 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



The following table gives the percentage of marks obtained by 6 students in 5 different
subjects 1n an examination. The numbers in the parenthesis give the maximum marks In
each subject. Answer the given gquestions based on the table :

Subject (Max. Marks) Percentage (%) of marks obtained

Name of - : : :

stsderk Maths | Chemistry | Physics Biology English
(150) (130) (120) (100) (100)

Anlkat a0 a0 80 60 70

Amar 100 60 70 40 80

Sanva a0 60 85 80 G0

Rahul S0 fis) G5 a0 a0

Puneet S0 80 70 85 50

Pooja 70 i) 50 80 40

Sub questions

Question Number : 26 Question Id : 61547510157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the overall percentage of marks obtained by Amar?

(1) 70% 2y 72%
(3) 60% (4) 58.33%

Options:
£15475339601.

E1547539602,
E1547539603.
515475233604,

[ N

Question Number : 27 Question Id : 61547510158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the aggregate of marks obtained by Sanyva in all the five subjects?

(1) 375 (Z2) 395
(3) 455 (4) 475

Options:
£1547539605,

E15475336086,
E1547539607.
51547533608,

[ N S

Question Number : 28 Question Id : 61547510159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the average marks obtained by all the six students in Chemstry?

(1) 86.66 (2) 76.66
(3) 66.66 (4) 60.00
Options:

515475233609, 1
61547539610, 2
61547539611, 3
E154752961%2. 4

Question Number : 29 Question Id : 61547510160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students obtained 60% and above marks 1n all the subjects?

(1) Three (2) Two
(3) One (4) Zero
Options:

E1547539613. 1
E1547539614. 2
51547539615, 3
51547539616, 4

Question Number : 30 Question Id : 61547510161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which subject the performance of the students is worst 1n terms of percentage of marks?

(1) Chemistry (2) Physics
(3) Bioclogy (4) Enghsh
Options:

BE1547539617. 1
61547539618, 2
615475396149, 3
61547529620, 4

Question Id : 61547510156 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



et @ifeem & Arem 4 R ol 1 ©: smil gm 5 fE-fam e 5 awe i o FgEen
T B HIEE O 4 TS HEA Yok 999 % Saedn 39 il gl | dieiehl % 37T9R 91 15 T 99l 6
I o

faw= ITH ST =i aiaerdr (%)
(ATeRan 37%)

=79 F 91 TTfor A gitgh | SE-fawE | s
(150) (130) (120) (100) (100)

A 00 50 80 60 70

IR 100 60 70 40 80

= 00 60 85 80 60

TEd 80 75 65 90 90

g 80 80 70 85 50

LEL 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 61547510157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FTHL AT OTH 31 i e afaeraer fRal 27

(1) 70% (2) 72%
(3) 60% (4) 58.33%
Options:

61547539601,
1547539602,

E1547539603.
515475233604,

[ N

Question Number : 27 Question Id : 61547510158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt o= faw=t | T & TEE g A e R

(1)

Lo
L

Lad
WO
L& ]

(2)
(3)  45¢

Lo ]
LN

(4) 4

]

LA

Options:
E1547539605.

E1547 539606,
51547533607,
51547523608,

e LI M



Question Number : 28 Question Id : 61547510159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THEE TagH § g S D11 B HAEd ITH T HAE B 7

(1) 86.66 (2) 76.66
(3) H6.66 {4y 60.00
Options:

E154753960%8. 1
E1547539610. 2
61547539611, 3
B154753961%. 4

Question Number : 29 Question Id : 61547510160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tl fHag 9 T 9 4 60% I1 SHE SAH 37 UTH B0 R 7

-~ -

(1) GIE (2) =i
(3) = (4 I=
Options:

61547529612, 1
E1547539614. 2
E1547539615. 3
B1547539616. 4

Question Number : 30 Question Id : 61547510161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S i ufeeraar =1 3fe ® fHE fav 4wt # o ges wue wE

(1) e e (2) HiEw-TaE
(3) = EEE (4) ==
Options:

61547539617, 1
615475296158, 2
E1547539618. 3
E1547539620. 4

Sub-Section Number: 3
Sub-Section | d: 615475441
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 61547510162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following tasks 1s associated with changing appearance of a document in
word processing?

(1) Editing (2) Formatting
(3) Writing (4) Printing
Options:

61547529621, 1
E1547539622. 2
E1547539623. 3
51547539624, 4

Question Number : 31 Question Id : 61547510162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FefeIfiad e 8 § -3 5 92 TEET | SiegEs F =EY d 95| § 131 2 7

1) = (ofsfen) @ W
Gy i () @) T (Fafem)
Options:

E1547539621. 1
BE1547539622. 2
BE1547539623. 3
51547539624, 4

Question Number : 32 Question Id : 61547510163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term one gigabyte refers to :

(1) 1024 petabytes (2) 1024 megabytes
(3) 1024 kilobytes (4) 1024 bytes
Options:

E1547539625. 1
B1547539626. 2
B1547539627. 3
61547539628, 4

Question Number : 32 Question Id : 61547510163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) 1024 TZrEEg (2) 1024 TMETES
(3) 1024 FrerraEEH (4) 1024 =iEem
Options:

61547539625 1
E1547539626. 2
E1547539627. 3
B1547539628. 4

Question Number : 33 Question Id : 61547510164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

15 a wireless technology built in electronic gadgets for transferring data over
short distance

(1) WiF1 (2) Bluetooth
(3) Modem (4) USB
Options:

E1547539629. 1
E1547539630. 2
61547539621, 3
61547539632, 4

Question Number : 33 Question Id : 61547510164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U A TR B A 3 G SeT o A % fon s 39 | i wen #

1) 9B wE (2) w=u
(3) Hi=H (4) Fums]
Options:

61547529629 1
61547539630, 2
E1547539621. 3
E1547539632. 4

Question Number : 34 Question Id : 61547510165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PCI stands for

(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Component Interconnect (4) Peripheral Component Interaction
Options:

61547539632, 1
E1547539634. 2
E1547539635. 3
51547539636, 4

Question Number : 34 Question Id : 61547510165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T H 317E RO 9199 =9 7

(1)  wIETg= FUHE SerFae (2) TIEES FIHE S2EE

(3) T a2 T2 (4) UTFE FUHZ ST
Options:

61547539632, 1
E1547539634. 2
E1547539635. 3
51547539636, 4

Question Number : 35 Question Id : 61547510166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The national agency for responding to computer security incidents as and when they occur.
18

(1) CAT (2) CDAC
(3) CCA (4) ICERT
Options:

BE1547539637. 1
61547539638, 2
515475339635, 3
61547533640, 4

Question Number : 35 Question Id : 61547510166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U T 2 H gl g O meEtad 9l W ST At 7 o

(1) o T A (2) WFHud
(3) Hrdrw (4) M= =i = 3F 7
Options:

E1547539637. 1
E1547539638. 2
615475339635, 3
61547539640, 4

Question Number : 36 Question Id : 61547510167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify from the options given below. the co-benefit of Montreal Protocol

(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community in addressing air pollution
(4) Control of transboundary movement of hazardous waste
Options:

E1547539641. 1
B1547539642 2
51547539643, 3
61547539644, 4

Question Number : 36 Question Id : 61547510167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT TeFeal 5§ Hif-29 TIErhe * Hu-o19 i =iad i

(1) FHAT 9 U F IR F OO

(2) FTEq SEATFIES (FHT4) Iegs9 § ]
(3) 91 vEEW # A U ® g 9HEE % YA H ATEE

(4) IR AU % HE % 6 e W

Options:
61547539641, 1
61547539642 2



E1547539643. 3
51547539644, 4

Question Number : 37 Question Id : 61547510168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Green India Mis=ion. how manv hectares of degraded forest land 1s to be brought

under afforestation?

(1) 02 million hectares (2) 06 million hectares
(3) 08 million hectares (4) 20 million hectares
Options:

E1547539645. 1
51547539646, 2
51547539647, 3
615475396458, 4

Question Number : 37 Question Id : 61547510168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 02 fafe=m z7em (2) 06 Taferam sFem
(3) 08 THferEa s (4) 20 Mol s%em
Options:

61547529645 1
61547529646, 2
E1547539647. 3
E1547539648. 4

Question Number : 38 Question Id : 61547510169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The themes of some Sustainable Development Goals are

(a) Chmate action

(h) Sustainable cities and communities

(c) Peace. justice and strong institutions

(d) Skill development and decent emplovment
(e Green agriculture

(f) Reszponsible consumption and production

Choose the most appropriate from those given below :

(1) (a). (b). (c). (e) and (f)
(2) (b). (c). (e) and ()
(3) (b). (c). {d). (e) and (D
(4) (a). (b). (¢) and ()

Options:

61547539649 1
615475329650, 2
61547539651, 5
61547539652 4

Question Number : 38 Question Id : 61547510169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fidua g faFm Fa & 7w E -
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(1)  (a). (b). (c). (e) 31 (P
(2) tbLtthenaﬁILﬂ
(3) (). (c). (d). (e) AT (D

(4)  (a). (b). (c) T (f)
Options:
51547539649, 1
61547539650, 2
61547539651, 3
61547539652, 4

Question Number : 39 Question Id : 61547510170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most dominant source of Benzene emissions 1in ambient air is

(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options:

E1547539653. 1
E1547539654. 2
51547539655, 3
515475339656, 4

Question Number : 39 Question Id : 61547510170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SATEaTE (TiEett) i 7 4 s6E 3cae H GdigE TgE 1 6

(1)  Hw= z=am 2 Tome
3) W Fadw (4) Uz 3 AT
Options:

51547539653, 1
61547539654, 2
E15475339655. 3
E154753965E6. 4

Question Number : 40 Question Id : 61547510171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most important pollutants that cause degradation of water quality 1n rvers and streams
are
(a) Bacteria
(b) Nutrients
(c) Metals
(d) Total dissolved solids
(e) Algae

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) (2) (a), (b) and (d)
(3) (a). (b). (d) and (e) (4) (a). (b). (c), (d) and (e)
Options:

E1547539657. 1
E1547539658. 2
515475339659, 3
615475339660, 4

Question Number : 40 Question Id : 61547510171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  =E

b)  TEF A

(c) HTd

d) T HA N IE

(e) I

fefertian fampea o & @il SUge 300 1 =999 hiraw

1) (). (b) 3 (¢) (2 (a). (b) #T (d)
(3 (a). ®). (d) I (e) (4) (a), (b). (c), (d) =71 (e)
Options:

B15475339657. 1
615475339658, 2
615475396549, 3
61547523660, 4

Question Number : 41 Question Id : 61547510172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Database WOS stands for

(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options:

51547539661, 1
61547539662, 2
E15475339663. 3
E1547539664. 4

Question Number : 41 Question Id : 61547510172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5ld i-5_-1. L2 .E_r"if"“:! -S:H ey T"'-.'

(1) =9 7 =99 (2) =9 3% AES

(3)  =FE ¥AF TTH (4) F= 7 GlEg
Options:

515475339661, 1
E15475339662. 2
61547539662, 3
E1547539664. 4



Question Number : 42 Question Id : 61547510173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The major barriers for access to higher education 1n India are :

(a) more opportunities of emplovment for less educated
(b) government policies

(c) language of instruction

(d) economic status

(e) competition from forelgn universities

() gender discrimination 1n soclety

Choose the correct answer from the options given below :

(1) {a). (b) and (c) (2)y (b). {c) and (e)
(3) (c). (d) and (D (4) (d). (e) and ()
Options:

61547539665, 1
E154753966E. 2
E1547539667Y. 3
51547539668, 4

Question Number : 42 Question Id : 61547510173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qE H w3 e o At | 5 A E o
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(b)  HCRRI it
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(1) (a). (b) # (c) (2 (b, (c) I (o)
3) (o). (d) 37 (D 4)  (d). (e) #7 (D
Options:

E15475339665. 1
61547539666, 2
E1547539667Y. 3
E15475339668. 4

Question Number : 43 Question Id : 61547510174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

According to GATS (General Agreement on Trade and Services). higher education should be

a commodity in the

(1) domestic public sector (2) domestic private sector
(3) non-trading sector (4) global marketplace
Options:

5154753396645, 1
E15475339670. 2
61547529671, 3
E1547539672. 4

Question Number : 43 Question Id : 61547510174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U F TH (SR AR HETs ge " THEan) F AgEn 3= e s e stee wm anEe

(1)  oie] 50 &9 @ we a
(B e o (4) Afvas FrE ==
Options:

E1547539669. 1
B15475339670. 2
61547539671, 3
E1547539672. 4

Question Number : 44 Question Id : 61547510175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s true in the Indian context?

(1) Autonomous colleges can grant degrees independent of umversities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities

(3) Except doctoral degrees. all other degrees and diplomas can be granted by

autonomous colleges

(4) Whatever may be the degree or diploma. autonomous colleges can grant them under

their own name but under the seal of an affiliated university

Options:
61547539673, 1
61547539674 2

E1547539675. 3



E1547539676. 4

Question Number : 44 Question Id : 61547510175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539673 1

E1547539674. 2
E1547539675. 3
BE1547539676. 4

Question Number : 45 Question Id : 61547510176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rashtriva Uchhatar Shiksha Abhivan (RUSA) aims to achieve the following in Higher

Education System :

(a) Equity
(b) Access
(c) 50% GER

(d) Excellence

Choose the correct option from those given below :

(1) (a), (b) and (c)
(2) (a). (c) and (d)
(3) (a). (b) and (d)
(4) (b). (c) and (d)

Options:
B1547539677. 1

E154753967E. 2
E1547539673. 3
51547539680, 4



Question Number : 45 Question Id : 61547510176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S e wone § T = foe At (AR g vE v) FefetEe w5 O w6 w5 e @

(a) G

(b) AT

(d) ElE:oll
= fow o faedt @ @ wE famew gihw

1)  (a). (b) 7 (c)
(2) (). (c) ¥ (d)
(3)  (a). (b) 37 (d)
4)  (b). (c) ¥ (d)
Options:
L1E47FEZ98TF. 1
L1E47EZ9RTE. 2

B15475339675. 3
51547533680, 4

Sub-Section Number: 4
Sub-Section 1d: 615475442
Question Shuffling Allowed : Yes

Question Id : 61547510177 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension



Read the passage carefully and answer questions that follow :

There 1s no doubt that the market as a realitv and political economy as a theory plaved an
umportant role in the liberal crtique. But liberalism 1z neither the consequence nor the
development of these: rather. the market played. in the hiberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even welgh their significance: the analvsis of the mechamsms of “dearth” or more
generally. of the grain trade 1n the middle of the eighteenth century. was meant to show the
point at which goverming was always governing too much. Therefore. an anlaysis to make
visible. 1n the form of evidence. the formation of the value and circulation of wealth—or, on
the contrary. an analyvsis pre-supposing the intrinsic invisibility of the connection between
individual profit-seeking and the growth of collective wealth—economies, 1n any case. shows a
basic ncompatibility between the optimal development of the economic process and
maximisation of government procedures. It 13 by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed 1t at the limit of governmental action. Liberalism does not derive from jurdical
thought any more than it does from an economic analysis. It 1s not the 1dea of a political
soclety. but the result of search for a liberal technology of government.

Sub questions

Question Number : 46 Question Id : 61547510178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following plaved a role in the liberal eritique?

(1) Liberalism as a consequence of market forces
(2) Liberalizm as an offshoot of political economy
(3) Reality of market
(4) Political economy as a practice

Options:

61547539681, 1
E154753968%. 2
61547539682, 3
E15475396854. 4

Question Number : 47 Question Id : 61547510179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The liberal critique examined the 1implications of

(1) market expansion (2) too much governance

(3) growth of polhitical economy (4) politics of marketisation

Options:



E1547539685. 1
51547539686, 2
B1547533687. 3
61547539688, 4

Question Number : 48 Question Id : 61547510180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What kind of evidence was needed to make the liberal critique visible?

(1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth 1n supply of grain (4) Incompatibility of growth
Options:

E1547539689. 1
51547539630, 2
51547539631, 3
E154753963%2. 4

Question Number : 49 Question Id : 61547510181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 13 incompatible with optimal economic development?

(1) Plav of 1deas

(2) Absence of commercialism

(3) Political society

(4) Excessive government procedures
Options:

E15475396593. 1
515475396594, 2
6154753396385, 3
E15475339636. 4

Question Number : 50 Question Id : 61547510182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The passage 1s indicative of the author's preference to

(1) economic hegemony of individuals
(2) Iimit government control of economics
(3) seek hberalism from jurdical thought

(4) promote individual profits

Options:



E15475396597. 1
61547539638, 2
515475339655, 3
615475239700, 4

Question Id : 61547510177 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 61547510178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SEFATE] T | fAefertad § ° e gire w87

(1)  STERERT % TROHEEY 3ERATE (2) TEHATTGF A qHOHEEY IEEEE
(3)  =TER I AEAEEA (4) =FEN % =9 § TAAaE Ay
Options:

61547539681, 1
E1547539682. 2
E15475396E3. 3
E1547539684. 4

Question Number : 47 Question Id : 61547510179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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P~ w N i ol ] y s ~
ISFATG] TUTIAT H TohE [Hinardl =k TH1E =60 T3

(1) ST T TN (2) Feataw TmEA
(3)  TEAaE AY=EEEdT 1 A (4) ETARTER # T
Options:

515475339685, 1
615475339686, 2
E15475339687. 3
E154753968E. 4

Question Number : 48 Question Id : 61547510180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SETETEl TATT 1 56 &9 54 % 70 | TR o WA i e o 7

(1) & = af=ed (2) =ATHTE AT F GEAAE
(3) e i g § FAE (4) T = wHe B
Options:

E15475339659. 1
E1547539630. 2
E15475396391. 3
B15475396592. 4

Question Number : 49 Question Id : 61547510181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

srag AU AFE F ey e d g FH-s99 &7
(1) e | e

(2) EHUIEZE TR IC|

(3)  TeHIdH THIE
(4) oIS HERET FEUEE
Options:

E15475396593. 1
515475396594, 2
5154753396385, 3
E15475339636. 4

Question Number : 50 Question Id : 61547510182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =afrai =0 i anfaues

(2) YT T GORE] A R EHE

[y

(3) =NF 99RO 52 F4 FEAaTEal #i e

(4) =IfFTTa =TT R w2

Options:

61547539697, 1
615475396898 2
61547529699, 5
61547539700 4

PART Il Assarmese

Section Id : 615475136

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |1 d: 615475443
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547510183 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

" ol = =
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THECS I54 G FRICE TS - AleEo | Bl SCeT 3501 F 1 e Fa7 DT EFSH @6 % 7

(1) e (2)  wEroHER
(3) I (4) wEEEE
Options:

61547529701, 1
E1547539702. 2
E1547539703. 3
515475339704, 4

Yes



Question Number : 51 Question Id : 61547510183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i ol = =
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TETS TS @F FEE TS - Ao Ol ST0e IF01 S W F41 DTS @i o157 7

(1) T (2) m TSI
(3) GEGIEIR] (4) WICHTE T
Options:

61547529701, 1
E1547539702. 2
B1547539703. 3
515475339704, 4

Question Number : 52 Question Id : 61547510184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AEOTGIE YT SR AW -F1hs e F97 ETIFs-

(1) A AT (2)  TEwE 9491
(3) TEE T (4) wEIaEr
Options:

E1547539705. 1
B1547539706. 2
615475339707, 3
61547539708, 4

Question Number : 52 Question Id : 61547510184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AE TG WIYFF ST SIm-31hs 18 F471 GTIFs -

(1) FEEHE T4 (2)  #HwE 9491
(3) TEAT T (4) wEIET
Options:

5154752337051
615475339706, 2
615475329707, 3
61547529708, 4

Question Number : 53 Question Id : 61547510185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“FUATRI *RC0T 2T THET FIT AT 577 -

(1) Tf=ms F=te (2)  UENT ETest
(3) wEE T4t (4) SEETdAEE
Options:

61547529709, 1
61547529710, 2
E1547539711. 3
E1547539712. 4

Question Number : 53 Question Id : 61547510185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT *RROT AT TR FAT FTAFS 1A -

(1)  =Ti=m F=he (2 T @ee
(3)  uEE g9t (1) SEEANES
Options:

61547529709, 1
E1547539710. 2
E1547539711. 3
B154753971%2. 4

Question Number : 54 Question Id : 61547510186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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{A translator is to be like his author, it is not his business to excel him)

T WS 6 e (FIEEaT 7

(1) T T (27 ==
(3) ﬁ*fﬁ%ttél (4) FrEa ciEE
Options:

E1547539713. 1
61547539714, 2
61547539715 3
61547533716, 4

Question Number : 54 Question Id : 61547510186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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{A translator is to be like his author. it i= not his business to excel him)

T T BT (F IS

(1) T ST (2) =ZhoES
(3)  ATFHFOFI (4) StEa ciEE
Options:

6154753397121
E1547539714. 2
E1547539715. 3
B1547539716. 4

Question Number : 55 Question Id : 61547510187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

"o 2Rt TaaEr EET R W F9 T 70w -

(1)  amieIm sl (2) ST (CREET
(3)  =feEm oREET e (4) g IFaT
Options:

E1547539717. 1
E1547539718. 2
51547539719, 3
B1547539720. 4

Question Number : 55 Question Id : 61547510187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ozt TAAET @ET REaA o F91 TheEe 10 -

(1)  amfeIm sl (2) ST (CREEAL A
(3) = o (4) I I
Options:

BE1547539717. 1
61547539718, 2
61547539719 3
E1547533720. 4

Question Number : 56 Question Id : 61547510188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  FE5FTST (2) FaTw "FO!
(3) Aomazl (1) weltEFarm
Options:

61547539721, 1
E1547539722. 2
B1547539723. 3
B1547539724. 4

Question Number : 56 Question Id : 61547510188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

"SR TH FIT TEAT FIT FEASFIR AT -

(1) FWoFTO! (2) FITG ATTO!
(3) AromIFH (4) woET FER
Options:

E1547539721. 1
B1547539722. 2
B1547539723. 3
G1547539724. 4

Question Number : 57 Question Id : 61547510189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SE CFIETE I SR AT Ao AT IR F19 GEiee wWiehs FaT 5

(1) HTHST (Rt TPTAl (2) AT T (wal
(3)  ergteE (4)  STERST CRaT Tt
Options:

B1547539725. 1
61547539726, 2
E1547539727. 3
61547529728, 4

Question Number : 57 Question Id : 61547510189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539725, 1
61547539726 2
E15475329727. 2
61547539728 4

Question Number : 58 Question Id : 61547510190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wiNE Fae! HRET FaET @7

(1) IR GIYa (2) =it TaEtyat
(3) AT YNt (4) TOFEE LISt
Options:

E1547539729. 1
61547529730, 2
E1547539721. 3
B1547539732. 4

Question Number : 58 Question Id : 61547510190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wiETE’ FfTel AET ST @E?

(1)  TII=FmE Gy (2) =i TR TyEt
(3) Tl BTyt (4) TOEEE HYEt
Options:

E1547539729. 1
B1547539730. 2
B1547539731. 3
61547539732 4

Question Number : 59 Question Id : 61547510191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTET BIEE SASET T SiEaat F19 P «gs, To Fedt wire 97 490 siaga s -

(1) et 575 CGIETT (2) SrAET I
(3) AWmEE ©olbE (4) U e
Options:

61547529732 1
E1547539734. 2
E1547539735. 3
51547539736, 4



Question Number : 59 Question Id : 61547510191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) oIS 578 GIFET (2)  STAEAT G
(3)  ATIREE SHIBE (4) =3z gy
Options:

615475397331
61547539734, 2
61547539735 3
E1547539736. 4

Question Number : 60 Question Id : 61547510192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR g ATE SivRE et
T AT T,

(1) ArFEET e (2) TATFATATS
(3) SAIETEI A (4 T te
Options:

61547533737, 1
E1547539738. 2
E1547539739. 3
B1547539740. 4

Question Number : 60 Question Id : 61547510192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



BE1547539737. 1
61547539738, 2
61547539735, 3
615475239740, 4

Question Number : 61 Question Id : 61547510193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“TIIF QF T I T S |
FIT -T2 T 5T #1581 24T -1 |1

Sqe Arews @Ay ey wels 7

(1)  «reeT s @) TS
(3) TERAEETS (4) AT
Options:

61547529741, 1
E1547539742 2
E1547539743. 3
51547539744, 4

Question Number : 61 Question Id : 61547510193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
BT GF A5 HWITZ T 5 T |
F1oT- e 5fT /% 2o - 11
CL- O PoRi | G e o s b A RO RS 2 G

(1)  areTE S @) TS
(3) TENEETS® (4)  FECEET
Options:

515475397411
61547539742 2
61547529742 3
E1547539744. 4

Question Number : 62 Question Id : 61547510194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘TEUET (o9 e’ AT I A4S 1A

(1)  AaTEwa GEFH (2)  FAET et
(3)  Tomgs et (4) dIEEE THT
Options:

615475397451
E154753974E. 2



E1547539747. 3
61547539748, 4

Question Number : 62 Question Id : 61547510194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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()  ATEws G (2)  FrErr et
(30 Toogs @est (4) TIAEE THT
Options:

61547529745 1
E154753974E. 2
E1547539747. 3
61547539748, 4

Question Number : 63 Question Id : 61547510195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  ==FHAEET 2y  TiTs FFhs
(3)  FAfegTE GO 1) TEIETIE
Options:

E15475397459. 1
615475339750, 2
51547539751, 3
61547539752 4

Question Number : 63 Question Id : 61547510195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  =Fg=w=ngr 2 T FEhs
(3)  waifezuE GO @) TEIETE
Options:

5154753974591
61547539750, 2
61547529751, 3
E1547539752. 4

Question Number : 64 Question Id : 61547510196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) STTETeT (2) oo
(3 sfao & wifa
Options:

61547529752, 1
E1547539754. 2
E1547539755. 3
61547539756, 4

Question Number : 64 Question Id : 61547510196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  ~freeror (2) wor
(3)  Tofo (1) wIfED
Options:

E1547539753. 1
61547539754, 2
61547539755 3
E1547533756. 4

Question Number : 65 Question Id : 61547510197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Studies in Assamese Vocabulary fil¥#F 57 4TraT 27 -

(1)  THRAEET v w51 (2)  TETEATET SE
(3) T0F oFF (4)  FOASF
Options:

E1547539757. 1
E1547539758. 2
51547539759, 3
615475339760, 4

Question Number : 65 Question Id : 61547510197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



B1547539757. 1
61547539758, 2
61547539755, 3
61547539760, 4

Question Number : 66 Question Id : 61547510198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTF P JONT YT IEmeT I Ty e TEar @y Fefatom g

(1)  TuEe e () FAE T T EerEa
(3)  wwat ferta (@) Tt
Options:

61547529761, 1
61547539762, 2
E1547539763. 3
E1547539764. 4

Question Number : 66 Question Id : 61547510198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Turee ferfs (2) =R T T FEemferts
(3) Tt et (4) ottt fofat
Options:

E1547539761. 1
B1547539762. 2
61547539763, 3
61547539764, 4

Question Number : 67 Question Id : 61547510199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547539765. 1
61547539766, 2
E1547539767. 3
615475339768, 4

Question Number : 67 Question Id : 61547510199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547539765, 1
E154753976E. 2
61547529767, 3
E1547539765. 4

Question Number : 68 Question Id : 61547510200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475295821, 1
61547539822, 2
E1547539823. 3
E1547539824. 4

Question Number : 81 Question Id : 61547510213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T - AT FSe 5o -

(1) ST F (7) TS T

(31 oI srm (1) Trmawia



Options:
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61547539874 2
61547539875 2
61547539876, 4

Question Number : 95 Question Id : 61547510227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



R S < YoTee! 29 -

(a) LRI
{b) AT
(e TS
(d) et

(1) {a) == (b)
(2) (c) o= (d)
(3) (b) =F (c)
(4) (a) == (d)

Options:

61547539877, 1
61547539878, 2
61547539879 2
61547539880 4

Question Number : 95 Question Id : 61547510227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a) LA RIS
(b)  THTAT
(el w1s

'::CU A B

(1) {(a) HT=F (b)
(2) (c) =T=F (d)
(3) (b) =I1=F (c)
(4) {a) TF (d)

Options:
E1547539877. 1



E1547539878. 2
61547533875, 3
51547533880, 4

Question Number : 96 Question Id : 61547510228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST * T Y-
(a) TG
(hi FIES

(c) SATYTE
(d) TFIFIE

(1) (a) o1 (b)
(2) (c) =T=F (d)
(3) {a) T (d)
(1) {(a) TT=F (c)
Options:
15475398511
154752309852 2
1547539583 2
1547539554 4

Question Number : 96 Question Id : 61547510228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) ans=
(k) FICS
(c) GATYTIRT
{c) FEE

(1) (a) ™= (h)
(2) (c) =T=F (d)
(3) (&) OT=F (d)

(4 {(a) =IT=F (c)
Options:
61547529881, 1
61547533882, 2
61547533883, 3
61547539884, 4

Question Number : 97 Question Id : 61547510229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TS ST oad BuEd-

(a) Be + el = ol
(k) A + Tel = TS
(¢) TR+TF=TTE

(d) T2+ Es=urmse

(1) (a) == (b)
(2) (a) TT=F (c)
(3) (b) =T=F (c)
(4) (c) TTF (d)

Options:
1547539885, 1
615475395586, 2



E1547539887. 3
515475339888, 4

Question Number : 97 Question Id : 61547510229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS T o SREa -

(a) Be + A = Gy
(b HE + Tl = T
(e} Se+zE=TFH

i N
{d) 5e + T =

(1) (2) TT=F (b)
(2) (a) TT=F (c)
(3 (b) == (c)
(4) (c) TTF (d)

Options:

51547539885, 1
61547539886, 2
61547539887, 2
E1547529888. 4

Question Number : 98 Question Id : 61547510230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FRUDEA @D AHD ST 2 /T Te1-

{a) GECH
(k) e
ie) FEE
{d) FE AT

(1) (2) 5= (b)
(2) (a) BT (d)
(3] () =TT=F ()
(4) (b) =IT=F (c)

Options:

561547539889, 1
61547539890 2
1547539891 =2
E15475329892 4

Question Number : 98 Question Id : 61547510230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FLHTER APS AMHD SRR = Je1-

{a) GECH
(b) TS
(e FEE
(d) FE At

(1) (2) = (b)
(2) (a) o1=F (d)
(3) () =AT=F (d)
(4) (b) =1 (c)

Options:



E1547539889. 1
61547533830, 2
51547539831, 3
61547539832, 4

Question Number : 99 Question Id : 61547510231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“foer *ThoF i Rerferf T Y-
(a)  *iTear e oitEs Fetet
(b) e FemiEe
(c) FITE T (Tt e

(d) Tttt MEemiEter

(1) (a) TP (c)
(2) (b) =P {c)
(3) (c) =IT=F (d)
(1) {a) =1 (h)
Options:
61547539593 1
61547539594 2

515475338585, 3
615475339836, 4

Question Number : 99 Question Id : 61547510231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



srep s Femfefa -

(a)  r=arAfaET sias Fenfete
(b T FEreie
(c) FIeE TI4T T Fenfee

(d) sttt Femfeer

(1) {a) TT=F (c)
(2 (b) T ()
(3) {c) =IT=F (d)
(4) {a) =1F (h)

Options:

615475395893, 1
1547539894 2
£15475329895 =2
61547529896, 4

Question Number : 100 Question Id : 61547510232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T FTPIS T SAS T < Y-
{(a) ﬂ'l?f\f"T
(b)y AT
(c) LT
() el

(1) (2) o= (b)
(2) {b) ==F (c)
(3)  {(a) F (c)

(4) (c) =IT=F (d)

Options:
61547539897, 1



E1547539898. 2
5154753398595, 3
515475333900, 4

Question Number : 100 Question 1d : 61547510232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT FTAT I TS “F Y-
{a) II'F{?‘T

(b) AT

(c) CHeIreT

&  fsf

(1) {a) =T=F (b)
(2) {(b) =T=F (c)
(3) {a) ™T=F (c)
4) (o) = ()

Options:
£1547539597. 1

E15475398398. 2
5154753398595, 3
515475333900, 4

Question Number : 101 Question 1d : 61547510233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ICF T AT AT oerd Y-

{al =1
(b) WY

(c) T
(c) FOF

(L (@ o=F ()
(2) (a) == (d)
(3] {c) TT=FE (h)
(4  (e=m=F (d)

Options:

61547539901, 1
61547539302, 2
61547539902 2
E15475293904 4

Question Number : 101 Question Id : 61547510233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TP T AT AT e Y-

{a) =1
{(b) =T

{c] qTH
(d) FOF

(1 (2 ==F (b
(2) (a) == (d)
(3] {c) TT=F (h)
(4) (c) oTF (d)

Options:
61547539901, 1



E1547539902. 2
515475393903, 3
5154753393904, 4

Question Number : 102 Question 1d : 61547510234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR RS T a0l gF AN EAE TEaFT Y7-

{a) T8 F1FS
{b) CeICETe BATe ]
{c) BT e el L A

{d) & T47

(1) (a) WTF (b)
(2) (a) TT=F (d)
(3 (b) =T=F (d)
(4) {c) =P (d)

Options:

61547539905, 1
E15475329906. 2
61547529907, 5
61547539908, 4

Question Number : 102 Question Id : 61547510234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(b) T B
(e)  wifa= eom =t

{d) & 941

(1) (a) =P (b)
(2) (a) o= (d)
(3) (b) == (d)
(4) (e) =IT=F (d)

Options:

51547539905, 1
61547539906, 2
61547539307, 2
61547539308, 4

Question Number : 103 Question 1d : 61547510235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DA AT AR e ATeEE Y7-

(a)  =m:Ttee (Intertextuality)
k) o (Textual Criticism)
ey  T=E=Esg (Themetology)

() sEeo¢ (Indology)

(1) (a)om=F (d)
() (b) =I=F (c)
(3] (a) = (c)

(4) {a) W= (h)

Options:
£1547539509. 1



E1547539910. 2
51547539911, 3
61547539912 4

Question Number : 103 Question 1d : 61547510235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DA S Ao AeEE Y7-

(a)  TE:ATHEe! (Intertextuality)
(b)  #fto s (Textual Criticism)
(e} TEE=Eeg (Themetology)

(d) sEeo¢ (Indology)

1) (a) =% (d)
() (b) o= ()
(3] (o) TF (e
(4) {(a) = (b)

Options:

615475399039, 1
E1547529910. 2
61547529911, 5
61547539912 4

Question Number : 104 Question Id : 61547510236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT TUFE YT 2 -

(a)  WI9EG
b e
(c) T

(d) FaEE Iy

(1) (a) == (b)
(2) (a) T=F (c)
(3) (b) =T=F (c)
(4] {c) ™I=F (d)

Options:

61547539913, 1
61547539914 2
£1547529915 =2
615475239916, 4

Question Number : 104 Question Id : 61547510236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TET ST THFE YA T -

(a) Tfeeg
(b) [CRzIar)
(c) TR

(d)  FIEF Y

(1) (a) == (b)
(2) (a) T=F (c)
3 OTF @
(4) (c) =P (d)

Options:
615475399131



E1547539914. 2
51547539915 3
51547539916, 4

Question Number : 105 Question 1d : 61547510237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST SaTifefes ey Y-

{a) Haa9 II00
h) A o
{c) [t

(d) wioTtat

(1) (a) 91=F (b)
(2) () OT=F (d)
(3 (c) == (d)
(4) (b) == (d)

Options:

61547539917, 1
61547539918, 2
61547539919 2
615475399320 4

Question Number : 105 Question 1d : 61547510237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SR SiEA e rEF ST YE-

(a) SETT A0S
) s @eferiy
{c] Eeiel ]

(d)  =IfsErar

(1) (a) WF (b)
(2) (a) O1TF (d)
(3) (c) W= (d)
@ mEE ()

Options:

61547539917, 1
£1547539918. 2
£1547529919 2
61547539920 4

Question Number : 106 Question Id : 61547510238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UTHETE S6A1 F91 I o9 Y71-

(a) F1e T madmEm

b))  wifer e sren
{c) Aeg A=

(d)  wYF YIho gAIAT

(1) {a) TF (c)
(2) (a) TT=F (d)
(3) {a) DT (b)
@) O (o

Options:
61547539921, 1



B1547539922. 2
61547539923, 3
61547539924, 4

Question Number : 106 Question 1d : 61547510238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HTHET F5a1 F4T T30 1od Y71 -

{a) FIE & meaAE

(b) GiTeT TIE Sie
{c) Alg AT

(d) WY gIho gl

(1) {a) ™= (c)
{2) (a) W= (d)
{(3) {a) WT=F (h)
(4) (b) W= (c)

Options:

61547539921, 1
615475399322 2
E1547529922 2
615475239924, 4

Question Number : 107 Question Id : 61547510239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sraeifgs TR WIETEAT T oA ST 53 I5-
(a) A TFIT TP AT

(h)  SEAIET TEECE oo MEE

() TR SR TR

(d) RN B oftaF FEE o iEsE srElE

(1) (a) W= (b)
2 (b)) (o)
(3) (a) BF  (d)
(4) {c) TT=F  (d)

Options:
154753599251

E1547539926. 2
B1547539927. 3
61547539928, 4

Question Number : 107 Question 1d : 61547510239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SATSITGF FIeEs I WIEEAT F47 TR SEE 73T J5-

(a) TR TEHIT P TEATSS
(b) IS TR arterE [EE
(€) ORI SEE T

(d) O BEE otaE MEE o ireE siElE

(1) (a) TF (b)
(2) (b) T=F (c)
(3) (a) T=F (d)
(4) () =F (d)

Options:
61547539925, 1



B1547539926. 2
B1547539927. 3
61547539928, 4

Question Number : 108 Question 1d : 61547510240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a) G
by  THTE
{c) ThsEF
(d) Tr=Ehs

(1) (a) WTF (b)
(2) (b) WTI=F (c)
(3) )™= (d)
(4) by == (d)

Options:

61547539929, 1
61547539930 2
61547539931, 2
61547539932 4

Question Number : 108 Question Id : 61547510240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AMETS WHEFET HST Y-
(a) T

by  TETE

(c) S IIGTE

{d) TreEhe

(1) {a) W= (b)
(2) (b) ==F  (c)
{(3) {e) == (d)
(4) (h) == (d)
Options:
61547539929, 1
E15475359930. 2

E1547539921. 3
E1547539932. 4

Question Number : 109 Question Id : 61547510241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
{a) THF5
Y ok L
(c) Ep e DR EID-RAIEY

() ETETEE BATE TRe I YT

(1) (a) = (d)
(2) (a) W= (c)
(3) (b) =T (d)

(4) (b) =T=F (c)

Options:
61547539933, 1



E1547539924. 2
51547539935 3
515475339936, 4

Question Number : 109 Question 1d : 61547510241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(a) THFE
(b) Afs#m
) TFw e

(d) TET AT TR Tha e U1

(1) (a) == (d)
(2) (a) =P (c)
3 B ()
(4) {(h) I=F (c)

Options:

615475395933 1
615475239924, 2
61547539935 2
61547539936, 4

Question Number : 110 Question 1d : 61547510242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



EHEHH4|3“?$“”®'ﬂEi?qqgﬁaﬂfﬂ_

(a) THYF S
b) TAE FOCEE
(@  TFECTOr II&!
() & FEEy

(1) (a) = (c)
(2) (h) =T=F (c)
(3) {e) ==F (d)
(4) {a) 1= (d)
Options:
15475399271
E15475359938. 2

E1547539939. 3
E15475239940. 4

Question Number : 110 Question Id : 61547510242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W ISTFIETS AHo IS I~

(a)  PoYFE S
(b) TAR FeTSED
(c) EFECRT gA&T
(d) TIE TEwEg

(1) {a) TT=F (c)
(2) (b) =IT=F (c)
(3) {c) == (d)
(4) (a) =IT=F (d)

Options:



E1547539937. 1
61547539928, 2
51547539925, 3
615475293940, 4

Question Number : 111 Question 1d : 61547510243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
"3 B e -FATS T UF Blaaees {7 -
(a) TR
(b) TS R AT
{c) AT RE )

) ThF THIE

{1) {a) TF (c)
(2) (b) == (d)
(3) (c) == (h)
(4] {(d) =IT=F (a)

Options:

615475395941 1
615475239942 2
61547539942
61547539944 4

Question Number : 111 Question Id : 61547510243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



"3 F - e -FTS T T Blaaeas Y7-
{a) Ty

(b)  TEAE T

{c) TR )

{d) ST THTE

(1) (a) H=F (c)
(2) (b) == (d)
(3) {c) HT=F (b)
{4) (d) == (a)

Options:

61547539941, 1
61547539942 2
61547539943 =
£1547539944 4

Question Number : 112 Question Id : 61547510244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT (TaR FeAl F4T ST Y-

(a) oIS UNE
(h) FET Ao FAM
(c) T WP Tl

()  aEmelSEd

(1) (a) W=+ ()
@) B TF (0
@  (@wF d
@ (@ TF  (b)

Options:
51547539945, 1



E1547539946. 2
51547539947, 3
515475239948, 4

Question Number : 112 Question 1d : 61547510244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

mTo (TFR Fea1 F41 ST Y-

{a) Eraake CIGES
(b) FET #TeT ol
(c) =T I Tel

)  QETS SET

(1) {a) WTF (c)
(2) (b) == (c)
(3) {a) 9= (d)
(4) (a) ==F  (b)

Options:
615475395945 1

E1547539946. 2
51547539947, 3
515475239948, 4

Question Number : 113 Question 1d : 61547510245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



UEG TR OEAm F41 PR Aifree ger-

(a) o= e afes
k)  fHTEeE
()  FiemEaE

(d) IR S (O

(1) (b) == (d)
(2) {a) == (b)
3 (e)TF (d)
(4) {(b) =T1=F (c)

Options:

615475395949 1
615475239950 2
61547539951,
61547539352 4

Question Number : 113 Question Id : 61547510245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UG TR TR F41 FR AfRee 1 -

(a) oS S 9fes
by HEE o
(c) T EIE

(d) IR S (O

(1) (b) =1 (d)
@) () T (b)
(3) {c) TT=F (d)
(4] (b) =T=F (c)

Options:
51547539949, 1



E1547539950. 2
51547539951, 3
51547539952, 4

Question Number : 114 Question 1d : 61547510246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT WA FEAS TEEE F91 IR Y-

{(a) AT SETT
(k) BITCE
l:lll_-l T 5

) P

(1) (a) =T (d)
(2) (b) = (e
(3) (c) W= (d)
(4) (a) =T=F (h)

Options:
61547539553 1

E1547539954. 2
515475339955, 3
51547539956, 4

Question Number : 114 Question 1d : 61547510246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T AT A FETE TR F9 IEE Y-
(2)  ACHRAT

{(b) ST

(¢) TS

) P

(1) (a) = (d)
{2) (b) == (c)
(3) (c) == (d)
(4) (a) T1F (h)

Options:

61547539953, 1
61547539954 2
£1547529955 =2
615475239956, 4

Question Number : 115 Question Id : 61547510247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST SAAITSF TI0FT e -

(a) TG
YR e e
':,EI "g E fatd --\. |

(d) e orEy

{1) (a) DT (k)
(2) (b) == (c)
(3) (a) D= (d)
(4) () =F  (d)
Options:
61547539957, 1

E15475339958. 2
E15475299559 5



E1547539960. 4

Question Number : 115 Question Id : 61547510247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST AMSF TI0FT Io7-

(a) Tlos
YR s e
i) qTECh L"l

+

(d) ey

{1) (a)3F  (h)
{2) (b) == (e
(3) (a) ==F (d)
(4) (c) ™=F (d)
Options:
E1547539957. 1
E15475359958. 2

E1547539959. 3
51547533960, 4

Question Number : 116 Question Id : 61547510248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T T T
(a) = AR e | i) AT TEEE T
ol F 1D AT B |
by =T @ At e (ii) OFF T69
AT G =i |
() AU RYT o8 = ie (iii) SHAT S

GIE i LG R ReTaa R e

(d) FACa oS | (iv) FeTCaTET
@I TE B Ty mrers 3 arfs

FTFD -

{1) (a)-(ii), (b)-(i), (e)-(iv), (d)-(iii)
2) (a)-(i), (b)-(ii). (c)-(ii), (d)-(iv)
(3)  (a)iv), (b)-Gid), (e)-(ii), (d)-({)

{4) {a)-(iii), (b)-(iv), (c)-{i). (d)-(ii)



Options:

61547539961, 1
61547539962 2
E15475329962. 2
61547539964, 4

Question Number : 116 Question Id : 61547510248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘T TG e
(3) HFAEIE “Tea T (i) GIE RS o I
o7t FA1ES FEAAT G
(b) =TT G S e (ii) OFF I69
IEEICERIAIGE el
()  oNTH T I8 vieer (iii) STUETNE
GIE i R G g ReT o e P
(d) TP arasitaTE | (iv) ST

T Witz Bt g wrers «fganfa

S T

(1) (a)-(ii), (b)-(1), (e)-(iv), {d)-(iii)

{(2) (a)-(i), (h)-(ii). (c)-(iii), (d)-{iv)

(3) (a)-(iv), (b)-(iii), (e)-(ii), (d)-(i)

(4] (a)-(111), (b)-(iv), (e)-(1), (d)-(i1)
Options:

E1547539961. 1
E1547539962. 2
51547539963, 3
61547539964, 4

Question Number : 117 Question 1d : 61547510249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T e g

(a) TEITeYTEFERIAT IS i) aftEm caa Ats
oo Almms we 4T =g |

(b) TR FfeTFeT TR o iR (i) ToFT-AArmT 5o
e @EETeT 6T |

(¢) AL 0E IS0l (TaEamm (iii) ToT-T3F G -TIF F99 Ao
BET T MRISTTIE,

() =g e e e (iv) el 9Tesd Ais
G AT AT AT T |

RS

(1) (a)-(ii), (b)-(1), (e)-(iv), {(d)-(iii)
@) (&)@, b)), (-G, d)-Gv)
(3) (a)-(iv), (h)-(iid), (e)-(ii), (d)-(i)
(4) (a)-(iii), (b)-(iv), (e)-(i), (d)-(ii)
Options:
61547539965,
61547539966,
61547539967
61547539968,

[ N

Question Number : 117 Question Id : 61547510249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

il g
(a) NG YTBT FeRET 98T i) OfEm caET S
oo A ma g T s |
(b) TFE Ffeer gIE o ot (i) TomT-AArmT 5o
e aREI e 6T |
(¢) ST o0 Tt et (i) FA-FET-TEFETT NS
BIET I AT,
(d) =g e S e (iv) 1 9Tesd As
Iﬂsu I ﬁ ] ?Fﬁfﬁ 7 |

(1) (a)-(ii), (b)-(1). (e)-(iv), {(d)-(iii)
(2) (a)-(i), (h)-(i1), (e)-(ii), (d)-(iv)
3 (2)-Gv), (b)-Gid), (o)-Gi), (d)-@)
@) (2)-iD), ®)-Gv), (@-G). (d)-Gi)



Options:

61547539965, 1
61547539966 2
E154753299E7. 2
61547539968, 4

Question Number : 118 Question Id : 61547510250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T T "’ BT
(a) TSRS I e YoRs G|
(b)y  WNEFE (i)  TETHET FC A5
(c) dfs=r= (iil) ST AF A
() T (iv) TaoeE e =R
(1) (a)-(i1), (b)-(iii), (e)-(1), (d)-(iv)
(2) (a)-(1), (b)-(11), (e)-(1i1), (d)-(iv)
(3) (a)-(iv), (b)-(iii). (e)-(1). (d)-(ii)
(4) (a)-(iii), (h)-(iv), {e)-(1), {)-(ii)
Options:

E154753996%9. 1
E1547539970. 2
51547539971, 3
G1547539972. 4

Question Number : 118 Question 1d : 61547510250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T T "’ BB

(a) e :’5_5 (i) TED f,I—;]L‘;F.-.f

(b)  THTSFIT (i) TR FQ A4S

(c) dfezm (iil) ETHIET AF AR

(d) T (v) TaoEr sEE A
B2 o TO

(1) (a)-(11), (b)-(1ii), (e)-(1). (d)-(iv)
20 (a)-), (b)-), (o)), (d)-(iv)
(3)  (a)-iv). (b)-(iii). (e)-(1). (d)-(ii)
4) (2. (b)-v), (e)-4), (d)-Gi)

Options:
£15475395969. 1

E1547539970. 2
51547539971, 3
61547539972 4

Question Number : 119 Question 1d : 61547510251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s R
(a) ‘T <3 Tt e e W i) TeCHF
TS 12T T TS TICECT T
(b) 93 CE FI 7 (i) ST
sffefry cee |
() TegETEE TER AT I
TTeTa (GTE Fogd AT |
(d) RSE gt feafEais (iv) ThoEs
e S T

(1) (a)-(), (b)-(iii), (e)-(ii), (d)-(iv)

(2) (a)-(ii1), (b)-(ii). {(e)-(1), (d)-(iv)

(3) (a)-(iv), (b)-(1), (e)-(ii), (d)-(iii)

(4) (a)-(i1), (b)-(iv), (e)-(i1), (d)-(i)
Options:

E1547539973. 1
E1547539974. 2
515475339975 3



E1547539976. 4

Question Number : 119 Question Id : 61547510251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T T g
(a) ‘ToE 9F T ceaeE e W i)  BecHE
(G S T I TICT T
(b) TR CTF FITT] (ii) BT
g fefe e |
() TETETEE TEeR AT (i) T
T o1 (5TR o0 11z |
(d) “Forr it fsieaiins (iv) TloEs
BET @ EiE e

(L (a)-(i), (b)-(1i), (c)-(i1), (d)-(iv}

(2) (a)-(iii), (b)-(ii), (0)-(2), (d)-(iv)

(3) (a)-(iv), (b)-(1), (e)-(ii), (d)-(iii)

(4) (a)-(i1), (b)-(iv), (e)-(ii), (d)-(1)
Options:

615475295972 1
61547529974, 2
E1547539975 3
E1547539976. 4

Question Number : 120 Question Id : 61547510252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o oI’ B
(a) Toraam bEEI (i) jfg
(b) T HFHLa TPl (i)  eTFerf
(c) wofgIT=ET (iii) ST FEST
(d) el T v) =frsg e

RS -

(1) (a)-(i), (b)-(i1), (e)-(ii1), (d)-(iv)
(2) (a)-(11), (b)-(av), {e)-(11), (d)-{1)
(3) (a)-(ii), (b)-(iv), (e)-(i), (d)-(iii)
(4) (a)-(iii), (h)-(ii). (c)-(1). (d)-(iv)

Options:
61547539977, 1



E1547539978. 2
515475399759, 3
51547533980, 4

Question Number : 120 Question 1d : 61547510252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s s
(a) TG GEAT @ T
(b) HEELG TP (i) eTFery
(c) worgF<mI (iil) AT FST
(d) et T (v) TfrssaT

P Ml T

(1) (a)-(1). (b)-(ii). (c)-(iil). (d)-(iv)

(2) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

(3 (a)-(ii), (b)-(iv), {e)-{i), (d)-{iii)

(4) (a)-(iii), (b)-(ii). (c)-(1). (d)-(iv)
Options:

61547529977, 1
E1547539978. 2
B1547539979. 3
515475239980, 4

Question Number : 121 Question 1d : 61547510253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T T s
(a) Aspects of Early Assamese Literature (i) TfiwmF=hs

(b}  Studies in the Literature of Assam (i) STHFAE BB
{e)  Assamese Literature i) FfETEFTE 3=
(d)  Folk Literature of Assam (iv) HTETS G
(1) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(2) {a)-(iii), (b)-(ii), (e)-(i), {d)-(iv)
(3) {a)-(1), (b)-(ii), (e)-(iii). (di-{iv)
(4) (a)-(iv), (b)-(1), (e)-(i1), (d)-(iii)
Options:

E1547539981. 1
B1547539982. 2
51547539983, 3



E1547539984. 4

Question Number : 121 Question Id : 61547510253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F T s
{a)  Aspects of Early Assamese Literature (5) =@ F=hs

(b}  Studies in the Literature of Assam (i) STHFAE pIBT
{c) Assamese Literature {iii) ﬁﬁfﬁmw
{d) Folk Literature of Assam (iv) dTEwS STFTHT
(1) (a)-(1i), (b)-(iii). (e)-(iv), (d)-(i)
(2) (a)-(iii), (h)-(ii), (c)-(1), {d)-(iv)
(3)  (a)), (b)), (e-(ii), (d)-fiv)
{(4) (a)-(iv), (h)-(1), (e)-(id), (d)-(1ii)
Options:

61547529951, 1
E1547539982. 2
E1547539983. 3
515475239984, 4

Question Number : 122 Question Id : 61547510254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

st o
(a) THSHET ETIEAIEEE |AET (i) oTEwS G
(b) W A Tuhs B (i) TfEtpzFrm T
(c) AN CTTFNS (iii) TIEEG T
(d) oEmE st (iv) e STt

3 S T

(1) (a)-(ii), (b)-(iv), (e)-(iii), (d)-(i)
(2) (a)-(iii), (b)-(i1), (e)-(iv), (d)-(i)
{(3) (a)-(iv), (b)-(1), (e)-(i1), {(c)-(ii1)
(4) (a)-(1), (b)-(i1), (e)-(iv), (d)-(i1)
Options:

51547539985,
61547539986,
61547539987,
£154753998E.

[ N Y



Question Number : 122 Question Id : 61547510254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

st o
(a) TSR ETIEIREE T (i) oTEwS G
(b) T A9 Tohs B (i) TfEtpzFrm T
(c) TTT GTFTENS (iii) TIEEG T
(d) =T S (iv)  ETe oiest

3 S T

(1) (a)-(ii), (b)-(iv), (e)-(iii), (d)-(i)
(2) (a)-(ii), (b)-{i1), (e)-(iv), {(d)-(i)

{(3) (a)-(iv), (b)-(1), (e)-(i1), {(c)-(ii1)
(4) (a)-(1), (b)-(i1), (e)-(iv), (d)-(i1)
Options:

E1547539985. 1
E1547539986. 2
B15475339987. 3
61547539955, 4

Question Number : 123 Question 1d : 61547510255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T e o’ g
(a) =EW2 1) ATSFT T
(b) =TS (i) T I
(c) TS THT (iii) TTEAT4S
d) FoeYm (iv) AT Faral
B S TG
(1) (a)-(iii), (b)-(i), (e)-(iv), (d)-(ii)
(2) (a)-(i1), (b)-iv), {(e)-(). (d)-(iii)
(3) (a)-(1), (b)-(i1), (c)-(iii), (c)-(iv)
(4) (a)-(iv), (b)-(iii), (e)-(1), (d)-(i1)
Options:

E1547539959. 1
615475239930, 2
E15475399391. 3
B15475399592. 4

Question Number : 123 Question Id : 61547510255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



F T i

(a) =EwE i) FSHFET I
(b) =ETS (ii) Toes I
(c) TMESTHT (iii) THoaTAS

(d) =ToIEYm (iv) TGS FEraT
FLTERS

1) (a)-Gii), Gb)-G), (@-dv), (d)-)

(2) (a)-(ii), (b)-(wv), (e)-(1), (d)-(iii)

(3) (a)-(1). (b)-(11), (c)-(ii1). (d)-(iv)

(4) (a)-(iv), (b)-(ii1), (c)-(1), (d)-(i1)
Options:

61547539989, 1

61547539990 2

61547539991, =

£1547539992 4

Question Number : 124 Question 1d : 61547510256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s g

(a) foT=Ete =l G) ToatSem
(b) T (i) =PI FIORE
() =mafm: (iii) DNRFFT BT
(d) == ST (iv) Jrafs T

TAIERS

(1) (a)-(i), (b)-Gv), (e)-(ii), (d)-(iii)

{2) (a)-(i1), (h)-(iv), (e)-(iii), (d)-(i)

(3] (a)-(iv), (b)-(ii), (e)-(1), (d)-(ii)

(4) {a)-(iii), (b)-(i), (e)-(iv), (d)-(ii)

Options:

£15475399393. 1
E1547539954. 2
E15475399385. 3
B15475399396. 4

Question Number : 124 Question Id : 61547510256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T T o TS

(a) TeTFBTS =TT i) fTomrTem
(b) Wi (i) Tl TR
() =y (iii) OGFeE B
(d) =T = (iv) rafs T
B TG

(1) (a)-(1), (b)-(iv), (c)-(i1), (d)-(1ii)
(20 (a)-(i). (b)-Gv), (e)-(ii). (d)-{)
(3) (a)-(iv), (b)-(iii), (e)-(i), (d)-(ii)
(1) {a)-(iii), (b)-(i), (c)-{iv), (d)-(ii)

Options:

61547539993, 1
61547539994 2
61547539995 2
61547539996 4

Question Number : 125 Question 1d : 61547510257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s 7 T
(a) 0T &ET (i)  TTTEm
(b) Y i) 5 omET piEnE
(c) ToTEz (iii) % 51 ooTEt TErEy
@) TEESTE (iv) TFERTae ATfTRors
AIERD -
(1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(2) (a)-(i1), (b)-(1ii), {e)-(1v), (d)-(1)

(3 (a)-(ii), (b)-(iii), (e)-(1), (d)-(iv)
(1) (a)-(iii), (h)-(iv), (e)-{i), (d)-(ii)
Options:
£1547539997. 1
51547539993, 2
£1547539999. 3
61547540000, 4

Question Number : 125 Question Id : 61547510257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘T T ")’ T

(a) TSR SET (i) EEfe

(b) g (i) o =S BERE

(c) ToTez (iii) TWE WeET TE0EY

(d) TEESTE (iv) TFET QS AT
FEERS

(L (&)@, (b)), (o)-Gid), (d)-(iv)
{2 (a)-(ii), (b)-(iii), {(c)-(iv), (d)-(1)
(3] (a)-(ii), (b)-(iii). {e)-(1). (d)-(iv)
@ (@G b)), (-0, (d)-)

Options:

£1547539997. 1

61547539998, 2

61547539999, 3

£1547540000. 4

Question Number : 126 Question Id : 61547510258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e e fehgs JreET-

(a)  FCorE AT *THT
(b)  TEgT e
(€) ST
() ooy aest

(1) (d), (), (b), (a)
(2) (a). (b). (e). (d)
(3) (a), (e), (b), (d)
{4) (b), (a), (d), (c)

Options:

61547540001, 1
61547540002, 2
61547540003 =
61547540004, 4



Question Number : 126 Question Id : 61547510258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e e fehgs JreET-

(a)  ACSTEATRTHT
by T e

(€) ST

() ooy aest

(1) (d), (), (b), (a)
(2) (a). (b). (e). (d)
(3) (a), (c). (b), (d)
(4) {(b), {a). {(d), (c)

Options:
61547540001, 1

E154754000Z. 2
E1547540003. 3
51547540004, 4

Question Number : 127 Question Id : 61547510259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(a)  FUTFS
(b) THEF -
{c) ToT&HET

) AT

(1) {a). (d), (b, (c)
(2) (b)), (a), (d), {c)
(3) (a), (b), (d). (e)

(4) {a), (b), {e), (d)

Options:
51547540005, 1
61547540006, 2



E1547540007. 3
51547540008, 4

Question Number : 127 Question Id : 61547510259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a)  FINITFmE
) T I
(c) ToT&HET
(d) FTHAT

(1) {a), (d), (b), (e
(2) (b)), (a), (d), {c)
(3) {a), (b), (d), {c)
(4) {a), (b), {e), (d)

Options:

51547540005, 1
61547540006, 2
61547540007, =
61547540008, 4

Question Number : 128 Question Id : 61547510260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FIETIT2F HF ST A= -
{a) FATH

by Tl AwE

{c) FT-FTHET

(d) =S ITSISTET

(1) (a), (c), {(d), (b)
(2) {(h), (c), (d), (a)
(3) (a), (b), (e), (d)
(4) (a). (c), (b), (d)

Options:

61547540009 1
61547540010 2
61547540011, =
61547540012, 4

Question Number : 128 Question 1d : 61547510260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FIATF T B S -
(a) T

by Tl EwE

i) FT-TFTHIETT

'.rdl L B B B i

(1) (a). (c), (d). (b)
(2) (k). (c), (d). {a)
(3 {(a), (b), {c), (d)
(4) {(a), (), (b), (d)

Options:

61547540009, 1
61547540010 2
61547540011, 2
E1547540012. 4



Question Number : 129 Question Id : 61547510261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BT F ANEDT T FIEPIF 16 T ST s -

(a) SHE YA

(by BT
(c) TG Y
(d) =FEEEYT

(1) (a), {e), (h), (d)
(2) (a), (h), (), (d)
(3 (h), {e). (d), (a)
{4) (a), (b). (d). (e

Options:

615475400132, 1
61547540014, 2
61547540015
61547540016, 4

Question Number : 129 Question Id : 61547510261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BT F ANEDT T FIEPIF 16 T ST s -

(a) I Rl
(by BT

() TAGIYE
(d)  FETGRIYE

(1) (a), {e), (h), (d)
(2) (a), (h), (), (d)
(3 (h), {e). (d), (a)
{4) (a), (b). (d). (e

Options:
61547540013 1
61547540014, 2



E1547540015 3
61547540016, 4

Question Number : 130 Question Id : 61547510262 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

T (EheE Tofes e fa=adT aFtivera JreiEt-

{a)
{h)
(c)

{d)

(1)
(2)
(3)
(4]

Options:

TRl ST SeYE (3598 FaE GIFIHT)
Ty SR TR (s EiemT )
o AT et (BT o)

(a), (h), (c), (d)
(d), {e), (b), {a)
(b), {a), (d), (c)

(a), {d), (b}, (c)

E1547540017. 1
51547540018, 2
61547540015 3
61547540020, 4

: No Display Question Number : Yes

Question Number : 130 Question Id : 61547510262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TFT (TUEIE Mehos 509 ST aF e TrEiEt-

{a)
(b
ic)

(d)

(3
{(4)

Options:

THEIEE ST WY (3998 FE GrEr )
ST SR TR (7S BiemT )
o Wiy (i )

(a), (b), {c), (d)
{(d), {e). (b), {a)
(h), {a), (d), (c)

(a), {d). (b, ()



E1547540017. 1
615475400158, 2
61547540015, 3
61547540020, 4

Question Number : 131 Question 1d : 61547510263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TFT (D OE Tehee org JEFadd dFMHer ACSiET-
{a) A BT

(h) AN BIET WP TES

(c) ST

(d)  oEfTeE SaeEafasr

(1) (a), (), (e), (d)
(2) (b}, (a), (c), (d)
(3) (b), (e), (a), (d)

(4) {cd), (e), (b)), (a)

Options:

61547540021, 1
61547540022, 2
61547540022 2
E1547540024, 4

Question Number : 131 Question Id : 61547510263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) T BT

b)  TERE S W TEhS
(¢)  SHETT=E

(d)  SETT=EE A

(1) {a), (b), (e), {d)
(2) (hi, (a), (c), (d)
(3) (b), {c), (a), (d)

(4) (d). (e). (b), (a)

Options:

61547540021, 1
E1547540022. 2
61547540022 5
61547540024, 4

Question Number : 132 Question Id : 61547510264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HFT B O ACS -

(a) rﬁ_ﬁgﬁ
(b)  FE&T

(c) bl
{d) TEEA

(1) {a). (). (b), (d)
{2) {a), (h), (e), (d)
(3) {a), (), (d), (e
(4) (a), (d), (e}, (b)

Options:

61547540025 1
61547540026, 2
61547540027, 5
61547540028, 4



Question Number : 132 Question Id : 61547510264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT B SR SO -
(a) ﬁ'ﬁgl;f
YR
(c) [T
{d) TEEA

{13 {a), (e), (b), (d)
(2) {a), (b), (e), (d)
(3)  (a), &), (), ()
{4 {a), (d), (e}, (b)

Options:

61547540025, 1
E1547540026. 2
1547540027, 5
61547540028, 4

Question Number : 133 Question Id : 61547510265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SIS WSS A0S -

: =L T
(a) tlﬂ‘f."‘lﬂ’ﬂl AT TS

(b e oer T9nce

ic) OGS k.F'.-f-%]

; e e e e
(d) 2T (e | FFeA |

(1) (a). (b), (d), (c)
{2 (d), (a), (e), (b)
(3) (b, {c). (d), (a)
(4) (e). (d). (b), (a)

Options:
51547540029, 1



E1547540030. 2
61547540021, 3
51547540032, 4

Question Number : 133 Question 1d : 61547510265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TETHSE WYEe A0S T-

(a) T AT AT

(b et oot Tanee
{E:| ':-" =1|& |_l‘_'|__:.';'.
() AT ST (g Tﬂ—ﬂﬁ

(1) (a), {b), (d). (c)
(7 (d), (a), (), (b)
(3) (b), {c). (d), (a)

(4) (c), (d), (b), {(a)

Options:

61547540029, 1
61547540020, 2
E1547540021. 2
61547540022, 4

Question Number : 134 Question Id : 61547510266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a)  TIOF T WoTT 4575
(b) ST 0T -h;j_-\:'ﬂ
(e) EEAE D

(d) o o o o

(1) (a), (b, (d), (e
(2) (b), (), (2), (d)
(3) {d), (b), (), (2)
(4) {c), (b)), (a), (d)

Options:

61547540033, 1
615475400324, 2
E1547540035 =2
61547540026, 4

Question Number : 134 Question Id : 61547510266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  TIOF T WoTT 4575
(b) ST 0T -h;j_-\:'ﬂ
(e) EEAE D

(d) o o o o

(1) (a), (b, (d), (e
(2) (b), (), (2), (d)
(3) {d), (b), (), (2)
(4) {c), (b)), (a), (d)

Options:

61547540033, 1
615475400324, 2
E1547540035 =2
61547540026, 4



Question Number : 135 Question Id : 61547510267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BEE FFFE T WA TSl -
(a)  TFN-Frea7 SET

by AT AT

{c) WF{“’?‘?

{d) AE 5

(1) (c), (b), (d), (a)
(2) (a), {d). (e), (b)
(3) (k), {e), (a), {d)
(4) (d), {a), (b), (c)
Options:
615475400371
61547540035, 2

61547540035, 3
61547540040, 4

Question Number : 135 Question 1d : 61547510267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

BEE FFFE T W TsE-
(a) TFm-Froa9 oET
k) T AFe

¢) AEF TS
{d) B T

(1) (e). (b), (d), (a)
(2) (a), {d), (c), (b)
(3) (b), (e). (a), {d)
(4) (d), (a), (b), (c)

Options:



E1547540037. 1
61547540028, 2
61547540035, 3
61547540040, 4

Question Number : 136 Question Id : 61547510268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ofw . f9am ggor i @gaonee arfer
ST W@ AT IYD
e et ofa woe ffefrae
AF o TR T |

Ifw: T FEo FIEFES ST OT WHOT TUEE TS TIEF - SN SIS @ETs Jans
WEEFIT (20 |

(1) Tfrvg, i oms
@) OfF ug, 7iF w5
(3) OfF o, IhF a5
(4) Ofw =, IiE oms

Options:

61547540041, 1
61547540042 2
E1547540043 =2
61547540044, 4

Question Number : 136 Question Id : 61547510268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ir

e . T gFar i @g e oee afe
e gt ol oo e e o
AFhoT oA T0 |

gfw:. T e wifes Tar s oeom 39O nits e TEE-aREE Som Suers aErs i

el (AT |

(1) ©fF 8=, Iis oo
(2) SfFww, e g
(3) ©fw oo, Iie 85
4) OfF o, gis oo

Options:

61547540041, 1
61547540042 2
61547540042 =
61547540044 4

Question Number : 137 Question Id : 61547510269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tfw . =St (nasalization) i aBr a3

i . oEmE TEE FE-FE, WE-WE, AE-SE Wi TR SEECT ARG 7, FR T o

AT AT Fo =T |
(1) TfF uF, 7fF oo (2) i wmm, i 85
(3) Ofw mF, ghe w5 (4) Tfe oas, Iie o

Options:

61547540045, 1
61547540046, 2
61547540047 2
E1547540048. 4

Question Number : 137 Question Id : 61547510269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ofF . wga=er (nasalization) s@fas abr @ |

i . oEhE BETe FE-FE, WE-WE, A6 -6 Wi T SEETT AE T2, HR T s

1T ATTe e |
(1) TfF uF, 7fF oo (2) TfF oo, Ihe =5
(3) ofrF =g, gieus 4) ofF omg, gfie oos

Options:

61547540045, 1
61547540046, 2
61547540047 =
61547540045, 4

Question Number : 138 Question 1d : 61547510270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

OFF . QST T TEAINE (B40H (08T (IOl WP THESEE JNE e IFT St |

ITF - FHTo! WAWT (FIS FIOSEE TR i F TETF |

(1) ofe =, gie o5 (2) TfF uF, ITF o985
(3)  Tfr g, g oms 4) SfFu=m, 3T 8T
Options:

51547540043, 1
61547540050, 2
61547540051, 3
61547540052, 4

Question Number : 138 Question Id : 61547510270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TTF . QST T WA A0 (58T (oS! WF TAESEE JE S IF OFw |

s e Oy
4N 1 AQOT HYdThg Crald CTODIEE *5AH24 S8iq SIEFT HIETF |

(1) IfF omm, Ihe 85 (2) TfF T, ITF oom
(3) ofr omm, Ihe omm 1) OfFu=, 3iFow
Options:

61547540045 1
61547540050, 2
E1547540051. 3
E1547540052. 4



Question Number : 139 Question Id : 61547510271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
G . EERey EIET WeTRE TIEE 4 S Fe J641 a1 7912, 7 ¢RI SRS G

ST THITCE AT T3 |

Ifw . oF-Eew Frraw ofsme afeiis sEs o iees s e e

(1) B o, i oo (2) TfF u=, IfF o5
3 Sfrug, Ife oom 1) S oram, 7w
Options:

51547540053, 1
61547540054, 2
61547540055, 3
E1547540056. 4

Question Number : 139 Question Id : 61547510271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T . TEEeRes I WERE ST E e F S641 391 92, FE o1 g S eTrd

AT THAITCF AFT T2 |

Ifw . eF-TEew Frrys ofsars ofais ems e fraes sifns e fore

(1) SfF om, Ihe oeF (2) Tfw m=, IF 895
3 Ofr um, gfw oos 4 S oaw, gfe s
Options:

51547540053, 1
51547540054, 2
61547540055, 3
61547540056, 4

Question Number : 140 Question Id : 61547510272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ofw . fpaf (fiea) oore @rEt sT-roaE TF T2 | FoET 9o saaeie 9f Geres wEr
IfF - FApFETowE ST |

(1) Efru=, gie omm 2) TfF u=, 3fF om
(3) OhF o, Ihe o5 (4) ThF o, IhF o
Options:

51547540057, 1
51547540058, 2



E1547540053. 3
51547540080, 4

Question Number : 140 Question Id : 61547510272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oiw . Fpaa (Aea ) 7 @IE! ST -FEE 7o T | 8 4o SanE a7 Heres @R |

It - FpaEAowE ST as |

(1) ©fr s, 3z osw @) ofr ug, gie o
(3) The o, Ihe B35 (4) Tfw o, ghe omm
Options:

61547540057, 1
E1547540055. 2
E1547540053. 3
51547540080, 4

Sub-Section Number: 2
Sub-Section 1d: 615475444
Question Shuffling Allowed : Yes

Question Id : 61547510273 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



WEITIACT FALT F=FS AI07 JATTAT AT | WoTas ¢ 78 ToaTs Vife wEm 167 a4

QYT @01 FHS 47 T | TS FANTEEH 7% HF dBRaT @i wiow wEs 7

o T oot a1 | 758 STER A0 -SEaE W TR G IET Gl EFaioEe JaiE
T ANETS 1 Biaa Siieaes WTEaa] CHIeecF 0% 977 TS VF T AEEe 7, FiEas
4 4 W AT - dee-Tg ey Foe e 23 Ol sifeats aifis o afer oresd

TiFF T I AETFOE JSE e | B W wHRATET TIA A0F T SHES - AE S

TAYTE AES A S772 AT, 38 WNeTam AT -ATa-as aSeis 19 4w F912 =62 47

FE | TS SEYET 99 SPEe’ T, (0@ Tato AEseE oiw T8 qoest | Baes

‘TFIEAIDT GEA0T FIFE TOAI0T ST WF AT | FO0FT T AoTas AFTIE

OFLFT T TAAET FW F | A T F W ©EIAE TR TRE | 40T 7S derFeiE g

A=A ST SR WedEs TEF AT ATEL TdHET F0E F GBI 71 | (38 WleTw
AT o FIRAE JayEie! | TEF BiF9T FFons AEeEEe od e s Wiead oETe
ferzar |

ST FRETe= =7 T T @, TS 0T JAYET FOA TERR T F T SRS eE S
fafer wieyr 3t 7T oS wies 4E! F31 2'9 | FERerite 78 aibe Aty 4ibHE i 912 | =8

=

OIS VFF @ AT TR | TRFS TI0H 0T FAae @ e, 418 ST AT S s

ST o7 YW 1 TPePIe YR SE 45 F1 AP aIeR DT S ST | S Faate

AHET wiFF TFeT S THR TEie 95T TFET, ATd -TaE Afaea o e a5 57, T91-
s AHETH FEAT0T WP FIETT DiTe 49900 O ST =G 179 | O3 FAFEgT F9 Gt
@FEa Thed Aot 543 STt wifeaa Tt Q= FJaiE 1 @8 Wi = 95d JeE ofes

IS T T | QT WEET ACT FILE DI TG T AOIOIET I, I ok
Blaa | 7Fg @2 7 oS @, W JiiFe Qs = =241 JaET SEs Wik wEiE aive a3

TS | T THTOR AIOTRDES (O BEd WRe 9 S¢-5b ¥ TSEe I6e a7 Gl 9109

e O BET ATaie 912 |
Sub questions

Question Number : 141 Question 1d : 61547510274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



LA 0T FAYET HoEg @FEES 7

(1)  =EFEans wiorm wiEes &1 cmee Tivaace ViiEF Ta4E ey fies o e

A |

(2) TISFEIAI T JAYE TFS ACFT JAYET A TF |
(3)  TIEFRAIRT TEYE AT OFF SEIAT |
(1)  TISFE AT TAYT @Fe QT FIEE AT F |

Options:

1547540061, 1
61547540062, 2
61547540063 =
61547540064, 4

Question Number : 142 Question 1d : 61547510275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ST T A5 12 B 1d FEEFOT TDED e cA=r T3 7

(1) WU ETEAIoT DA SJaT I TS TS b aad A< 07 7T T |

(2) TR AN Heaas G% SO BIEaT T26 JIEE FAT TR |

(3)  TAYE T ANS O B A I WoRH 7={9% WIF 48ETT Fao@ T T |

(1)  TIEEE AT AERE ST e E AT I ANS o B iaas S T0T R TR |

Options:

61547540065, 1
61547540066, 2
61547540087, 2
61547540068, 4

Question Number : 143 Question Id : 61547510276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SIS T EIE A Glaas. @ELTIT ETReg s et AHe e oene Horm ghe 777

(1) TS FaYET THEa R BRETs Telte AlasTes seus fqwtwy gie o7 |

(2) TTTE AT T o sEETS AEe T o AT 'c;_'fhm T |

(3) BEED @F TI0FS 71 00 JAYE T BHED TR B HE! #9 |

() STEYE GG FEeT @ GO DA Ed 37 2 S 0% F A6 s B! o4 |

Options:



E1547540063. 1
61547540070, 2
61547540071, 3
61547540072, 4

Question Number : 144 Question Id : 61547510277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR AT DR STy T offee 7

(1)

(2)

(3)

(4]

Options:

- 2 o

AL AMTA1oF TR ST TP L5 SEE TTHOIE ST F Woad 397 4% 93T 4

EOT AoATTS F1E TYTAIT TIETID RS GrweTs DG |

SES AL T LTSI SIFE ATHHE 51T FA12 AR AT DT ST T |

FoE S TAI0FT W ©F A5 SEE ATHE 45T FACEL e TR ae S aegaT

GOEETS |

AT {25 el FAT T2 W SAA B e T FE AT EE A A A D FRT S

afEe |

51547540073, 1
61547540074, 2
61547540075, 3
E1547540076, 4

Question Number : 145 Question Id : 61547510278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S Blas Twd @EaEes T EmatEe of|r TR ]

(1)  EYEeETs Fwq e Fas s m aveeE cfEs T8 |

(2)  7EYH e e TR AT S, a9 |

(3)  STAYE Bl A e i ST Feresto |

(4)  FEYEEEE 15-16 *OIE & GE a0as cofial 77 |

Options:

61547540077, 1
61547540078, 2
E1547540079. 2
61547540080 4

Question Id : 61547510273 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehension



WEITIACT FALT F=FS AI07 JATTAT AT | WoTas ¢ 78 ToaTs Vife wEm 167 a4

QYT @01 FHS 47 T | TS FANTEEH 7% HF dBRaT @i wiow wEs 7

o T oot a1 | 758 STER A0 -SEaE W TR G IET Gl EFaioEe JaiE
T ANETS 1 Biaa Siieaes WTEaa] CHIeecF 0% 977 TS VF T AEEe 7, FiEas
4 4 W AT - dee-Tg ey Foe e 23 Ol sifeats aifis o afer oresd

TiFF T I AETFOE JSE e | B W wHRATET TIA A0F T SHES - AE S

TAYTE AES A S772 AT, 38 WNeTam AT -ATa-as aSeis 19 4w F912 =62 47

FE | TS SEYET 99 SPEe’ T, (0@ Tato AEseE oiw T8 qoest | Baes

‘TFIEAIDT GEA0T FIFE TOAI0T ST WF AT | FO0FT T AoTas AFTIE

OFLFT T TAAET FW F | A T F W ©EIAE TR TRE | 40T 7S derFeiE g

A=A ST SR WedEs TEF AT ATEL TdHET F0E F GBI 71 | (38 WleTw
AT o FIRAE JayEie! | TEF BiF9T FFons AEeEEe od e s Wiead oETe
ferzar |

ST FRETe= =7 T T @, TS 0T JAYET FOA TERR T F T SRS eE S
fafer wieyr 3t 7T oS wies 4E! F31 2'9 | FERerite 78 aibe Aty 4ibHE i 912 | =8

=

OIS VFF @ AT TR | TRFS TI0H 0T FAae @ e, 418 ST AT S s

ST o7 YW 1 TPePIe YR SE 45 F1 AP aIeR DT S ST | S Faate

AHET wiFF TFeT S THR TEie 95T TFET, ATd -TaE Afaea o e a5 57, T91-
s AHETH FEAT0T WP FIETT DiTe 49900 O ST =G 179 | O3 FAFEgT F9 Gt
@FEa Thed Aot 543 STt wifeaa Tt Q= FJaiE 1 @8 Wi = 95d JeE ofes

IS T T | QT WEET ACT FILE DI TG T AOIOIET I, I ok
Blaa | 7Fg @2 7 oS @, W JiiFe Qs = =241 JaET SEs Wik wEiE aive a3

TS | T THTOR AIOTRDES (O BEd WRe 9 S¢-5b ¥ TSEe I6e a7 Gl 9109

e O BET ATaie 912 |
Sub questions

Question Number : 141 Question 1d : 61547510274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



LA 0T FAYET HoEg @FEES 7

(1)  =EFEans wiorm wiEes &1 cmee Tivaace ViiEF Ta4E ey fies o e

A |

(2) TISFEIAI T JAYE TFS ACFT JAYET A TF |
(3)  TIEFRAIRT TEYE AT OFF SEIAT |
(1)  TISFE AT TAYT @Fe QT FIEE AT F |

Options:

1547540061, 1
61547540062, 2
61547540063 =
61547540064, 4

Question Number : 142 Question 1d : 61547510275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ST T A5 12 B 1d FEEFOT TDED e cA=r T3 7

(1) WU ETEAIoT DA SJaT I TS TS b aad A< 07 7T T |

(2) TR AN Heaas G% SO BIEaT T26 JIEE FAT TR |

(3)  TAYE T ANS O B A I WoRH 7={9% WIF 48ETT Fao@ T T |

(1)  TIEEE AT AERE ST e E AT I ANS o B iaas S T0T R TR |

Options:

61547540065, 1
61547540066, 2
61547540087, 2
61547540068, 4

Question Number : 143 Question Id : 61547510276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SIS T EIE A Glaas. @ELTIT ETReg s et AHe e oene Horm ghe 777

(1) TS FaYET THEa R BRETs Telte AlasTes seus fqwtwy gie o7 |

(2) TTTE AT T o sEETS AEe T o AT 'c;_'fhm T |

(3) BEED @F TI0FS 71 00 JAYE T BHED TR B HE! #9 |

() STEYE GG FEeT @ GO DA Ed 37 2 S 0% F A6 s B! o4 |

Options:



E1547540063. 1
61547540070, 2
61547540071, 3
61547540072, 4

Question Number : 144 Question Id : 61547510277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR AT DR STy T offee 7

(1)

(2)

(3)

(4]

Options:

- 2 o

AL AMTA1oF TR ST TP L5 SEE TTHOIE ST F Woad 397 4% 93T 4

EOT AoATTS F1E TYTAIT TIETID RS GrweTs DG |

SES AL T LTSI SIFE ATHHE 51T FA12 AR AT DT ST T |

FoE S TAI0FT W ©F A5 SEE ATHE 45T FACEL e TR ae S aegaT

GOEETS |

AT {25 el FAT T2 W SAA B e T FE AT EE A A A D FRT S

afEe |

51547540073, 1
61547540074, 2
61547540075, 3
E1547540076, 4

Question Number : 145 Question Id : 61547510278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S Blas Twd @EaEes T EmatEe of|r TR ]

(1)  EYEeETs Fwq e Fas s m aveeE cfEs T8 |

(2)  STOYE BlEas MR ngE AT e CrET T |

(3)  STAYE Bl A e i ST Feresto |

(4)  FEYEEEE 15-16 *OIE & GE a0as cofial 77 |

Options:

61547540077, 1
61547540078, 2
E1547540079. 2
61547540080 4

Sub-Section Number: 3
Sub-Section I1d: 615475445
Question Shuffling Allowed : Yes

Question Id : 61547510279 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension



Q. 96-100.

T BET AT | g WiF 4T A wiglE, Fat, T o GYEs oFaw SeiT FE Wiy e
St T 4EE WF U 9T AFMES T Qb - N TEE ewE wsees A9 e e
oty foy | iEiE Aewe AfvetiE IiF, I, I69, I St Jui AT | 3 It otats IR It
SINTey IR WieT, BNt g & Joir-amEe ot Sue e sars Y 59 @Rt | 91y
Aroas T ot ToitT WY TETT Tges 59T, 9T ote AN, YT e o qEe-AE
T @FI5TE SifTs iz e ToiEs iy e oed It | SRR Aness Yifee, =i ats-
s Nied @ Tiene @A-20f o B, SHeaTe Swied TN grel-5od [t wea fes
SN 5-TEG Wged FE! | o FfeT eFia o 30, T T oS oETE e e g
Fhacer, @St A FHE-IHre a7 W -yt FewE Fae o sy Sta-oEon @i

THEloT wiF sRiNEE oyFET 1= o #@fEe e oo @nE a9 @5 wYEas
TifserEe TR My wEvE oeew (m | @wiel sdE e siEe ottt S fGEe |
T, SoAfeaw, A, ST, cmeg, CIehE, SEiE ot siEen IR BN e I, T
ey T, wiedl, @FH, THAT Wit feq foq wEE WiEar e | 157 1 PN eFl o9
T TET FREe AT SiET T T9RR 97| ¥ eF Aifemes A9t Sgo ger-Foient heat
AR | S oiey Resas wiEm areTieT <t f5.97%8 i 2dxiy Fowe Sitwef o5, fogr aoet, €5, 7%
Tifies fsfe o2 1w S35 9l T3 | o4 i Aiferes o=t 3w I oy Sedifs Fefs sfz |
TaeT WELS T, TS IR A9ES I e 9t sIRitaet w0 eite 1we 7 39 4, g afeo
*=prE SISt If AR ©iFt I e SRt | TigaS ©iFt Wi T, WYRTE =5 Felsy Ao et
oot Nftw onie o == Stg et Ifhe =i titte i oitfars |

Sub questions

Question Number : 146 Question Id : 61547510280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TIEF *RIDCF CIDOTT 7 CITENL s (s @t FE0 72rm FiE 7
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